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1. ~ r n r n d ~ 4 m r h * @ ?  
(1) 7.9. m (2) F i m r m h  
(3) m - (4) m f i  
Which leader is not belong to All India Trade Union Congress ? 
(1) N.M. Joshi (2) Lokmanya Tilak 

(3) Lala Lajpatrai (4) Mahatma Gandhi 

Which are the two main characteristics of 'permanent' settlement ? 
a. To transform all landlord and recovely officers into landlords. 
b. To deprive the conventional rights on the land. 
c. To fix the structure of the revenue tax collection and recovery system. 

d. To improve the agricultural techniques. 

Answer Options : 
(1) Only a (2) Only a and b (3) Only c and d (4) Only d 

By which act legal recognition have been given to Indian Labour Organisation ? 

(1) Indian Trade Union Act, 1926 (2) Indian Mines Act, 1923 

(3) Indian Factory Act, 1922 (4) Indian Factory Act, 1911 

4. WGlhW$T*$.q. 1 8 8 6 ~ ~ & h d ~ ~ * $ 6 l ?  
(1) f%ibivV% (2) mg3 
(3) d m  (4) * - 
Who was the President of Indian National Congress in 1886 held in Calcutta ? 

(1) Firozshah Mehta (2) Abdul Aziz 

(3) Dadabhai Naoroji (4) Badruddin Tayyabji 
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5. ' & m ~ g f i 4 ; r ' 3 T i w l M a ~ ~ w m W ~ ?  
(1) ?.d. q, 1884 (2) d *, 1885 

(3) dh% w, 1884 (4) 9.11. d, 1885 

Who and when established Indian National Union Organisation ? 
(1) A.O. Hume, 1884 (2) Dadabhai Naoroji, 1885 

(3) W.C. Banerjee, 1884 (4) M.G. Ranade, 1885 

6. w m F p t ~ ~ ~ * T i w l ~ r n h ?  
n. withg~ 3. &twMisift 
w. *wm s. *&fa 
&-sat: 
(1) W S ~ ~ F ~ T  (2) WRI 3T,3 3Tfh * 
(3) 3, T, 5 2Tfh X (4) 3 

Which were the institutions in Maharashtra established for the social welfare ? 
a. Bombay Association b. Deccan Prantastha Mandali 
c. Prarthana Samaj d. Yugantar Samiti 

Answer Options : 
(1) Only a and b (2) Only a, b and c 

(3) a, b, c and d (4) Only d 

7. ~ ~ g e m m m r r d t - m ~ ~ p r m ; r r ~ W .  
ST. wdtm rn - m$t 
8. o m a h r i s  - ; r r . h r q m l M  

w. *Tm - ~ W r R f i r m ; r ~ ~ r n f $ T ?  

s. d m i ~ f h  - ;rr.9.* 

&-sat: 
(1) m s r x r b *  (2) m ~ & s  (3) m w  (4) m s 

Which of the following 'Sangha' was established by whom for upliftment of 'Dalit' ? 

a. Satyashodhak Samaj - Mahatma Phule 

b. Indian Servant Sangha - Hon. Gopalkrishna Gokhale 

c. Dalit Sangh - Depressed Class Mission Maharshi Vitthal 

Ramji Shinde 

d. Social Service League - N.M. Joshi 

Answer Options : 
(1) Only a and c (2) Only b and d (3) Only c (4) Only d 

GIT'll I SPACE FOR ROUGH WORK 



(1) 3 (2) a (3) wa 5 (4) mwSTTfaTq 
Which was the aim of the Britishers to establish the Railway in India ? 
a. To conserve the Britishers imperialist's economical, political and military 

co-relations. 
b. To internal supply and export the goods. 
c. To fulfil the expenditure of British Government in India. 

d. To make a capital for trade and business. 

Answer Options : 

(1) Only a (2) Only b (3) Only c (4) Only a and b 

9. ~ f i r ~ f t ~ ~ r ~ p f t z f ~ + ~ ~ ~ + a ~ ~ ~ e  
FiwTIrwmW? 

(1) 1876 (2) 1880 

(3) 1881 (4) 1885 

When did the mill owners in Mumbai establish the Bombay Mill Owners Association 
after realising the seriousness of the situation ? 

(1) 1876 (2) 1880 

(3) 1881 (4) 1885 

10. wd3gmcI *+dl. 

(1) msmm (2) 3. * 
(3) !@vMrn (4) %?a * 
'Dinmitra' was started by 

(1) Shahu Maharaj (2) Dr. Ambedkar 

(3) Mukundrao Patil (4) Vitthal Shinde 

5 T 4 l T d ~  1 SPACE FOR ROUGH WORK P.T.O. 



Which one of the following statements is not correct ? 
(1) The first Interim national government was announced on August 24, 1946. 
(2) On October 2,1946 the Interim Government headed by Nehru was sworn in. 
(3) On October 26, 1946 Wave11 brought the Muslim League into the Interim 

Government. 
(4) The Muslim League did not attend the first meeting of the Constituent 

Assembly on December 9, 1946. 

12. * 7 T R m ~ p y j i ~ ~ 3 ~ ~ ~ ~ ~ ~ ?  
(1) ST. *.m. * (2) m * 
(3) =nFXTm* (4) $.*. 
Who headed the fundamental rights sub committee in the Constituent Assembly of 
India ? 
(1) Dr. B.R. Arnbedkar (2) Sardar Pate1 
(3) Jawaharlal Nehru (4) J.B. Kripalani 

13. @ E % ' i f & d h ~ :  
ST. ' ~ r n ~ ~ ~ ~ ~ ~ .  
.r. e l m f i f i ~ ~ ~ ~ ~ ~ ~ - - 2 9 ~ ~ ~  

Fmd 4. 
. mjm+3d&rn--dm$?*m. 
3. ~ m * ~ 3 7 & ~ ~ a i t * m , 1 9 5 1 3 7 3 m ~ m & 7  

;rrft. 
atkl++Rmm*4? 
(1) m ST, a X&T 
(3) rFiaa ST, a X& J 
Consider the following statements : 
a. The term 'minority' has been defined in the Constitution of India. 
b. Article - 29 grants protection to both religious minorities as well as linguistic 

minorities. 
c. Right to conserve the language includes the right to agitate for the protection of 

the language. 
d. The political promises made for the conservation of the language does not 

amount to corrupt practice under the Representation of the People Act, 1951. 
Which of the above statements are true ? 
(1) Only a, b and c (2) Only b, c and d 
(3) Only a, b and d (4) Onlv a. c and d 

WJll I SPACE FOR ROUGH WORK 



If the parliament want to make a centres law on a matter fall in State List, how 
many states have to make request to parliament ? 

(1) Minimum one state (2) Two or more states 

(3) More than half states (4) 213 states 

One can file the public interest litigation regarding which one of the following ? 

(1) Landlord-Tenant cases 

(2) Cases regarding service matter 

(3) Admission to Medical College and other educational institutes 

(4) None of these 

Which of the following statements israre correct ? 

a. Article - 15 of the Constitution of India is available to both citizens of India 
and the foreigners. 

b. Article - 16 of the Constitution of India is available to the citizens of India only. 
c. Article - 21 of the Constitution of India is available to both citizens of India 

and the foreigners alike within the territory of India. 

(1) Only a (2) Only b and c (3) Only c (4) a, band c 

mmnrrdt CVll  I SPACE FOR ROUGH WORK P.T.O. 



17. ~ ~ ~ ~ ~ ~ 0 ~ 1 6 q i m ~ ~ ~ .  

" i ? T i T I f k T l ~ * ~ *  I. 3kw* 3. - 

4. "* P h k f m ~ "  11. a.m. Tm 

* " * @W $ * h" 111. *.w. * 
'< $. % T R + T E l r n M  IV. m* 

Match the comments and commentators on 'Directive Principles of State Policy'. 

a. "__ they have at  least educative I. Allen Gledhill 

values." 

b. "Socialism in the economic sphere." 11. B.N. Rau 

c. "Aimed at furthering the goals of the 111. K.M. Panikkar 

social revolution 

d. "___ the affirmative instructions IV. Granville Austin 

to the Government to do certain 

things 

Answer Options : 

a b c d 

(1) I1 I11 IV I 

(2) I I1 I11 N 
(3) I11 IV I I1 

(4) IV I I1 111 

W I SPACE FOR ROUGH WORK 



Consider the following statements : 
a. The Constitution of India, like that of Canada, has adopted the system of single 

citizenship. 
b. The other federal state like Switzerland, adopted the system of double 

citizenship. 

Answer Options : 

(1) Statement a is correct, b is false (2) Statement a is false, b is correct 

(3) Both the statements are correct (4) Both the statements are false 

19. ~ ~ ~ ~ d % f i f h 3 F l S ~ ?  
a. 37ldmfi Tprm;n 1995 'd  PTFR. 
3. a m h l U - r n 4 .  

. m*FTm*r~w.  
3. 2 T F h F v @ * m m .  

&d: 

(1) % 3 , + m s  (2) vRi a, 34 m 5 

(3) m 3 l , 3 & T s  (4) m a, + m3 

Which of the following statements about the Maharashtra State Election 
Commission are correct ? 

a. It was established in 1995. 

b. It has a constitutional basis. 

c. It conducts elections to local bodies. 

d. The State Election Commissioner is appointed by the Governor. 

Answer Options : 

(1) Onlyb,candd (2) Only a, b and c 

(3) Only a, b and d (4) Only a, c and d 

a5=Sll WlWTid  ijrmr I SPACE FOR ROUGH WORK P.T.O. 



Which of the following matters on which amendment is possible only by the 'simple 

majority' of the Parliament ? 

a. Citizenship 

b. Directive principles of State Policy 

c. Delimitation of constituencies 

d. Fundamental Rights 

e. Administration of tribal areas 

Answer Options : 

(1) a, b, c 

(2) a, c, e 

(3) b, d, e 

(4) a, b, c, d 

w e  3lTi I SPACE FOR ROUGH WORK 



According to 74th amendent consider the following statements : 

a. Nagar Panchayat can be established for areas in transition from a rural area to 
urban area. 

b. Fixed tenure of five years for the municipality and re-election within one year 
a t  the of end of the tenure. 

Which of the statements given above islare incorrect ? 
(1) a a n d b  (2) Only a (3) Only b (4) None of these 

22. &imMMta*mw*&.m 
(1) =-ha 3TIFtt (2) =-h3TIFttm 
(3) a e m m i h m  (4) *m* 
Employment generation was one of the objectives of economic planning. It was 

(1) Accorded a high priority (2) Never accorded a high priority 

(3) Given prime status (4) None of the above 

Consider the following statements : 

a. Indian planning is indicative economic planning. 
b. Indian planning is physical planning. 

c. Indian planning is financial planning. 

Which of the statemenffs given above islare correct ? 
(I) Only a and b (2) Only b and c (3) Only a and c (4) All of the above 

?tTFlW&GlPlll SPACE FOR ROUGH WORK P.T.0. 



According to usual status unemployment (adjusted) as per the NSS 66th - Round 
2009-10, in which of the following statdstates is the unemployment rate (per 1000) 
shown lowest in rural areas ? 
a. Gujarat b. Rajasthan 
c. Madhya Pradesh d. Maharashtra 

Answer Options : 

(1) Only a (2) Only b (3) Only c and d (4) Only d 

Consider the following statements : 

a. Integrated rural development programme aims a t  raising families above the 
poverty line by creating sustainable opportunities of self employment. 

b. In Jawahar Gram Samridhi Yojana preference is being given to SC/ST families 
below the poverty line and physically challenged persons. 

c. Ganga Kalyan Yojana provides irrigation facilities through groundwater 
sources to small and marginal farmers below the poverty line. 

Which of the statementh given above idare correct ? 

(1) Only a and b (2) Only b and c (3) Only a and c (4) All of the above 

m e  WTl I SPACE FOR ROUGH WORK 



26. 7 3 W - W ? T h ~ d d t h ~ W h ~ l ~ ?  
37. m d  1 9 9 3 m a ~ ~ 7 3 2 9 1 ~ f ? a q h .  
w. 7 3 ~ ~ ~ ~ m T i w r ~ ~ 1 9 % ~ ~ m  

m. 
mjiit: 
(1) %a 37 (2) 3 (3) % a w  (4) -&* 
In the reference of 73rd constitutional amendment which of the following statemenus 
islare incorrect ? 
a. In 1993 Government of India took the decision about 73rd constitutional 

amendment for rural development. 
b. 73rd constitutional amendment added 19 more subjects/contents in the 

functions of Panchayati Raj. 
Answer Options : 
(1) Only a (2) Both a and b (3) Only b (4) None of the above 

27. W?k lh?TRI :  

F.37 F8 

3. X P f t f h T ; m r m F h  I. 3%, 2005 
. ~ f k s i i 2 o o m k i m a m ~ r m ~ m m ~  11. 2 3 ~ & ~ , 2 0 1 3  
. m m - ~ ~ m  III. 2 m, ZOOS 
S. = F T m T m k ~ V l f f t ~ ~ ~ m  IV. 3 T ,  2011 
mjiit : 

31 3 a 3 

(1) I I1 I11 IV 
(2) IV I11 I1 I 
(3) 111 I1 I IV 
(4) I1 IV 111 I 
Match the following : 

Group A Group B 
a. Aajeevika formally launched I. grd December, 2005 
b. MGNREGA initial implementation in selected 200 11. ~3~ September, 2013 

most backend districts 
c. National urban livelihood mission launched 111. 2nd February, 2006 
d. Jawaharlal Nehru National Urban IV. 3rd June, 2011 

Renewal Mission launched 
Answer Options : 

a b c d 
(1) I I1 111 IV 
(2) IV I11 I1 I 
(3) I11 I1 I Iv 
(4) 11 IV I11 I 

FFiR3T& I SPACE FOR ROUGH WORK P.T.O. 



Agencies involved in five year plan formulations are : 
a. Niti Aayog 

b. Union Cabinet 
c. National Development Council 

Answer Options : 
(1) Only a (2) a and b 

(3) a and c (4) All the three above 

The time bound ambitions social objectives indicated under gth five year plan 
emphasized which of the following Basic Minimum Services ? 
a. Safe drinking water 
b. Tertiary health service 
c. Streamlining public distribution system 

d. Universalisation of secondary education 

Answer Options : 
(1) a a n d b  (2) b and c 

(3) a, band c (4) All the four above 

m a j m m n z f t  1 SPACE FOR ROUGH WORK 



connectivity was not considered in PURA Model. 

(1) Physical (2) Digital (3) Economic (4) Social 

Which of the following explains the featurds of infrastmctural development of 
India ? 

a. Heavy investment by the government 
b. Bias in favour of the poor 

c. Bias in favour of the rich 
Answer Options : 
(1) Only c (2) Only a (3) Only a and c (4) None of the above 

Consider the following statements regarding Indian Transport : 
a. The Indian Railway Network is divided into 17 zones. 
b. The Setu Bharatam programme was launched in 2016. 
c. The Ministry of shipping was formed in 2012 by bifurcating the erstwhile 

ministry of shipping road transport and highways. 
d. India has 12 major ports. 
Which of the statements given above are correct ? 
(1) Only a, b and c (2) Only b, c and d 
(3) Only a, b and d (4) Only a, c and d 

WWUl& I SPACE FOR ROUGH WORK P.T.O. 



33. NHDPWhm?p#W?JW6W4Rfk3$,  P M G S Y W * T ~ F ~ ~ ~ ~ $ X  
PMBJP W * * *. 
(1) m m + d  
(2) * &mi 

(3) r n d w m T h f r *  

(4) mm*9fmmf4R* 
NHDP deals with building high quality highways, PMGSY deals with rural roads 
and PMBJP deals with 

(1) Construction of state highways 

(2) Generic medicine 

(3) Liking up highways to rural roads 

(4) Linking up state highways to national highways 

Consider the following statements : 

a. Rashtriya Sam Vikas ~ o j a n a  was introduced to address the problems of low 
agricultural productivity and gaps in infrastructure. 

b. The scheme covered 200 backward districts. 

c. Rashtriya Sam Vikas Yojana to support the development initiatives in 
backward states and regions. 

Which of the statements given above are correct ? 

(1) Only a and b (2) Only b and c 

(3) Only a and c (4) All of the above 

m m m m r d t m  1 SPACE FOR ROUGH WORK 



Consider the following statements : 

a. Jawaharlal Nehru national urban renewal mission has been launched on 
3 1 ~  December, 2005. 

b. The objective is to focus attention on integrated development of infrastmctural 
services in the cities covered under the mission. 

c. Under this mission eligible sectors include : Parking lots on PPP basis and 
development of heritage areas. 

Which of the statements given above are correct ? 

( 1 )  Only a and c ( 2 )  Onlyaandb 

( 3 )  Only b and c ( 4 )  All the three mentioned above 

Consider the following statements : 
a. All India Radio's motto is 'Bahujan Hitaya : Bahujan Sukhaya'. 

b. AIR originates programming in 33 languages. 

c. It is one of the largest broadcasting organisations in the world in terms of the 
number of languages of broadcast. 

Which of the statements given above are correct ? 

( 1 )  Onlyaandb ( 2 )  Only a and c 

( 3 )  Only b and c (4 )  All of the above 

a m z i G i i i  ~TSPACE FOR ROUGH WORK P.T.O. 



Consider the following statements : 

a. National water policy 2002 lays greater emphasis on environmental concerns. 

b. It stresses the involvement and participation of beneficiaries. 

c. I t  encourages private sector participation in the planning, development and 
management of water resource projects. 

Which of the statements given above are correct ? 

(1) Only a and b (2) Onlybandc 

(3) Only a and c (4) All the three are correct statements 

Consider the following statements : 

a. In 1982, Doordarshan as a National Broadcaster came into existence. 

b. Krishi Darshan was the first programme telecast on Doordarshan. 

c. Prime Minister Shri Narendra Modi launched a television channel DD Kisan 
on 26 May, 2015. 

Which of the statements given above are correct ? 

(1) Only a and b (2) Only b and c 

(3) Only a and c (4) All of the above 

WWI mmmrrdt 3lTl I SPACE FOR ROUGH WORK 



Consider the following statements : 

a. The Government of India launched a time bound programme namely 'Bharat 

Nirman' in 2005. 

b. The objectives of Bharat Nirman programme the are to build urban 

infrastructure and provide basic amenities in rural areas. 

c. Phase I of the Bharat Nirman programme was implemented in the period 

2005 - 06 to 2008 - 09. 

Which of the statements given above are correct ? 

(1) Only a and b 

(2) Only h and c 

(3) Only a and c 

(4) All of the above 

aEEZll mmmndt3TJll I SPACE FOR ROUGH WORK P.T.O. 



3. ? d f B 8 4 . h m T P l l T k  IV. 1965 

*rs?it: 

Match the following pairs regarding expert bodies on energy planning and their year 
of establishment. 

A (Expert Committees) B (Estd. yew)  

a. Energy Survey of India Committee I. 1983 

b. Fuel Policy Committee 11. 1979 

c. Working Group on Energy Policy 111. 1974 

d. Advisory Board on Energy IV. 1965 

Answer Options : 

m e  I SPACE FOR ROUGH WORK 



Which of the following committee recommended Goods and Services Tax ? 

(1) Dr. Y.V. Reddy (2) Asimdas Gupta 

(3) Dr. C. Rangrajan (4) Dr. Vijay Kelkar 

42. ~ ~ d ~ % k d f t F i d & i W l & ?  . . 
3. q a  =rFmdh qye f t  (MAT) 
. h WTRlT dW=WJl f t  (GATS) 

F m WIT (TRIPS) 

. &%hT6 +F4#l3?X (WTO Agreement on Agriculture) 

&Jat: 
(1) V;ifila*a (2) r n ~ f i * ~  

(3) VitA 3, q* F (4) dEl Tmf 
Which of the following agreements is related to World Trade Organisation ? 
a. Multilateral Agreements on Trade and Goods 
b. General Agreement on Trade in Services 
c. Trade Related Aspects of Intellectual Property Rights 
d. WTO Agreement on Agriculture 
Answer Options : 
(1) Only a and b (2) Only c and d 
(3) Only a, b and c (4) All of the above 

43. **mthh**h? 
3. * m ~ w m ; r r l ~ ,  1 9 9 5 3 Z r l m m m .  

. * m ~ ~ ~ ~ m % T + t ~ .  
*&: 
(1) V;ifil 3 (2) STCI q 

(3) 3*qm (4) -m?;Ile 
Which of the following islare correct statemenus ? 
a. World Trade Organisation was established on lSt January, 1995. 
b. The headquarter of World Trade Organisation is a t  Geneva, Switzerland. 
Answer Options : 
(1) Only a (2) Only b 
(3) Both a and b (4) None of the above 

~~ I SPACE FOR ROUGH WORK P.T.O. 



44. ~ ~ ~ = ~ I ' T K ~ ( W T O ) W I ~ W $ ?  

(1, p . d . m .  (2) @ 
(3) w (4) m7 d 
Which of the following is WTO agreement ? 

(I)  A01 (2) TRICs 

(3) TRIMS (4) All of the above 

Whlch of the following islare unfavourable effect on agriculture of New Economic 
Policy ? 

a. Reasonable Price 

b. Price Instability 

c. Increase in Export 

d. Entry of Multi-National Corporations 
Answer Options : 

(1) Only a and b (2) Only c and d 

(3) Only a and c (4) Only b and d 

Which of the Constitutional Amendment is related to Goods and Services Tax ? 

(1) 9sth Constitutional Amendment (2) 9gth Constitutional Amendment 

(3) looth Constitutional Amendment (4) 10ISt Constitutional Amendment 

U E W I M  I SPACE FOR ROUGH WORK 



47. ~ ~ ~ - ~ ~ i m r r a r W i d V i $ d ?  

ST. +=im S. - 
a. f h  3. j a q % r n  **: 

(2) WRI ST, a &r 3 
(4) Ttk3FF-i 

Which of the following are included in the invisible Import-Export of Balance of 
Payments ? 

a. Trade of Goods b. Transportation 

c. Insurance d. Investment Income 
Answer Options : 
(1) Only a, b and c (2) Only a, c and d 

(3) Only b, c and d (4) All of the above 

48. 1 9 9 0 - 9 1 + a o o s - o 9 ~ ~ m = i m ~ ~ m M ?  

(1) mfi (2) 

(3) fa7 (4) -w$t;rrft 
What was the trend of balance of deficit of India during 1990 - 91 to 2008 - 09 ? 

(1) Declining (2) Increasing 

(3) Stable (4) None of the above 

Select the correct statement in the context of the World Bank 

a. World Bank was established in 1944. 

b. World Bank started functioning from June, 1946. 

Answer Options : 

(1) Only a (2) Only b 

(3) Both a and b (4) None of the above 

Z F E E l l T m  3 P l l  I SPACE FOR ROUGH WORK P.T.O. 



An outward oriented trade strategy is one in which trade and industrial 
policies 

(1) Discriminate between production for the domestic goods and foreign goods. 

(2) Do not discriminate between production for the domestic goods and foreign 
goods. 

(3) Trade and industrial incentives are in favour of domestic market. 

(4) None of the above 

Consider the following statements : 

a. The international Monetary Fund is a Specialized institution of the United 
Nations. 

b. The IMF Currently has 200 members countries. 

c. The IMF provide funds to a member country experiencing temporary Balance 
of Payment (BOP) deficits. 

Which of the statements given above are correct ? 

Answer Options : 

(1) Only a and b (2) Only b and c 

(3) Only a and c (4) All of the above 

ovtm WTI I SPACE FOR ROUGH WORK 



52. ~ ~ ~ ~ ~ ~ ~ ?  

37. k 
9.  m+3 
. m @ - 4 y 5  

&sat: 
(1) Tmwm4 (2) m w & *  
(3) Tm9** (4) *?id 
From which of the following sources, Foreign Capital comes in India ? 
a. Donations 
b. Foreign Loans 
c. Foreign Investment 
Answer Options : 
(1) Onlyaandb (2) Only a a n d c  
(3) Only b and c (4) All of the above 

Which sector of Indian economy has attracted highest FDI equity during 
2011 - 12 to 2013 - 14 ? 
(1) Construction (2) Service Sector 
(3) Computer Software (4) Power 

Identify the correct statement in the context of Balance of Trade. 
a. In Favourable Balance of Trade, the ratio of export is higher than the ratio of 

import of a country. 
b. In Unfavourable Balance of Trade, the ratio of import is higher than the ratio 

of export of a country. 
Answer Options : 
(1) Only a 
(3) Both a and b 

(2) Only b 
(4) None of the above 

~ - 
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65. 1992 ? 2013 Ynma k 3 ft b -HI 

M. 
(1) szift (2) & 
(3) * (4) m * ; r r f t  
FDI inflow of India was than FDI outflow during 1992 to 2013. 
(1) Declining (2) Greater 
(3) Stable (4) None of the above 

66. y& lw&%faw ; rh .  
3T. mTift ~ i % k i T ~ ~ ~ % l  2 0 1 5 ~ 2 0 2 0 & d ~ ~ ~  * M. 
a. %hi 'Make in India', 'Digital India', 'Skill India' T k  W @, FI Ti 

*TI@**. 
m*: 
(1) m 37 (2) m s 
(3) SraTRsM (4) mmm4 
Identify the correct statement from the following. 
a. Commerce Minister Mrs. Nirmala Sitharaman announced the Foreign Trade 

Policy of India for the period of 2015 to 2020. 
b. The main objective of this policy is to focus on 'Make in India', 'Digital India', 

'Skill India' for export promotion. 
Answer Options : 
(1) Only a (2) Only b 
(3) Both a and b (4) None of the above 

For which of the following objectives was the International Monetary Fund 
established ? 
a. To reduce prevailing exchange controls. 
b. To attempt for stability in exchange rates. 
c. To reduce multilateral trade. 
Answer Options : 
(1) Only a and b (2) Only b and c 
(3) Onlyaandc (4) All of the above 
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Consider the following statements regarding Foreign Trade Policy 2009 - 14 : 

a. The long-term policy objectives for the government is to double India's share in 
global trade by 2020. 

b. Foreign Trade Policy has added 50 new markets to the focus Market Scheme. 
c. Government has announced incremental export incentivisation scheme on 

December 2012. 
Which of the statements given above are correct ? 
Answer Options : 
(1) Only a and b 

(2) Only a and c 
(3) Only b and c 
(4) All of the above 

59. G T & & ~ ? ~ % ~ ~ [ O P E C I ~ ~ ~ @ ?  

(1) 3Tw8rFm 

(2) -emihl 
(3) m 
(4) m * 
Which of the following country is not the member of OPEC organisation ? 

(1) Afghanistan 

(2) Indonesia 

(3) Iran 

(4) Saudi Arabia 
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60. 7 F Z f d W p ~ m € h % k d ?  

(1) m E W - r n d l 7 ~  

(2) *mrnm* 
(3) 9 a r n ~ ~ m ~ m  
(4) * d 
What are principle sources of tax revenue of the State Government ? 

(1) Commercial taxes and land revenue 

(2) Stamp duties and registration fees 

(3) State excise duties on alchohol and other narcotics 

(4) Allof the above 

61. $ k r M m m r 4 m h h w $ m ? 3 & m :  
37. q. * - 
a;. - 3 3  5. =rm Ti7 

vtmftsat: 
(1) m 3 7 r n w  (2) ma;ms 
(3) m 37 (4) m37rna; 

Identify, which of the following islare the types of Income Tax ? 

a. Personal Income Tax b. Wealth Tax 

c. Corporation Tax d. Interest Tax 

Answer Options : 

(1) Only a and b 

(3) Only a 

(2) Only c and d 

(4) Only a and c 

Who was the Chairman of Tax Reform Committee 1991 ? 

(1) Raja J. Chelliah (2) Shri Vijay Kelkar 

(3) Shri L.K. Jha (4) Shri M. Govindrao 
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From whom the management of Public Debt of Union Government and State 
Governments is done ? 

(1) Prime Minister of India (2) Union Finance Ministry 

(3) Reserve Bank of India (4) The Parliament 

64. ; n f t * ~ ? f i m m r F & ? T & h ?  

3. ~r&mm &I 4. e a q f & i & I  
a. w b i h  a. k m d  
mfdtsat: 
(1) W S T ~ B  (2) wif~~3TTfaTih 
(3) m 3, B  & 3  (4) m ST, WPT* 

Which of the following are Included in Civil Expenditure ? 

a. General Services b. Social and Community Services 

c. Economic Services d. Expenditure on Defence 

Answer Options : 

(1) Only a and b (2) Only a and c 

(3) Only a, b and d (4) Only a, b and c 

What type of borrowings are considered as Public debt in India ? 

( 1 )  Central, State and borrowings of public enterprise 

(2) Central, State and Local Government borrowings 

(3) Central and State Government borrowings 

( 4 )  All above borrowings 

mmmrrdt ZVl'l I SPACE FOR ROUGH WORK P.T.0. 



The process undertaken in 1991 of economic reforms consists macroeconomic 

stabilization and . 

(1) Structural reforms 

(2) Socio-economic restructure 

(3) Adoption of pro-business policies 

(4) Human development restructure 

LPG Model has followed the IMF-World Bank prescription of 

(1) Opening of public sector to private sector 

(2) Facilitation to direct foreign investment 

(3) Encourage to more export 

(4) Stabilisation and structural adjustment 

&=JJl mmnndt I SPACE FOR ROUGH WORK 



68. * ~~. 
*w 

ST. qfaa 3liwmi 
. ~ 3 ( ~  

*. gfkl 3liwmi 
*riat: 

Select correct pairs. 

Column A 

a. Balanced Budget 

b. Surplus Budget 

c. Deficit Budget 

Answer Options : 

a b 

(1) I I1 

(2) 11 I 

(3) I11 I 

(4) 11 I11 

Column B 

I. Government Receipts < Government Expenditure 

11. Government Receipts = Government Expenditure 

111. Government Receipts > Government Expenditure 

69. V C W f i F f m W d m d t & i ?  

(1) YWm (2) w 
(3) m (4) -w@;rrft 
What is the nature of Income Tax in India ? 

(1) Proportional (2) Progressive 

(3) Regressive (4) None of the above 
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Consider the following statements : 

a. The Value Added Tax (VAT) is Multipoint Tax Collection Method. 

b. Non-VAT is Single Point Tax Collection Method. 

c. Implementation of VAT will improve the purchasing capacity and living 

standard of the poor people. 

Which of the statements given above are correct ? 

Answer Options : 

(1) Only a and b 

(2) Only b and c 

(3) Only a and c 

(4) All of the above 

aEWT mmmrrdt 3 F l l  I SPACE FOR ROUGH WORK 



Consider the following statements : 

a. The Finance Commission is appointed under Article 280 of the Constitution. 

b. Article 275 of the Constitution provides for grants-in aid to the states in need of 

assistance. 

c. Under Article 282 provides for grants by the Union Government to the State 

Governments for any private purpose. 

Which of the statementh given above islare incorrect ? 

Answer Options : 

(1) Onlyaandb 

(2) Only b and c 

(3) Only b 

(4) Only c 
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Consider the following statements : 

a. In January 2004, the Government allowed FDI upto 100 percent in Printing 

Scientific and Technical Magazines, Periodicals and Journals. 

b. In January 2004, the Government raised FDI Limit to 100 percent in 

Petroleum Sectors. 

c. 80% present FDI permitted for business to business e-commerce, 

Which of the statemenus given above islare correct ? 

Answer Options : 

(1) Only a 

(3) Only a and c 

(2) Only a and b 

(4) Only b and c 

73. fB-Acr g? = ? 

(1) Jiznm=l%g?+&md 

(2) ~ m ~ + ~ t m r  
(3) wmdhg? c-tmr 
(4) 5 1 i 4 @ + + m d a h  
Fiscal Deficit = ? 

(1) Budget Deficit + Government's Market Borrowings 

(2) Government's Market Borrowings + Government's Liabilities 

(3) Budget Deficit + Government's Liabilities 

(4) Budget Deficit + Government's Market Borrowings and Liabilities 
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Consider the following statements : 

a. The Reserve Bank of India plays a vital role in the Fiscal Management of the 
States. 

b. The Important function of RBI is to help the States to raise market loans. 

c. The RBI has been organizing the state finance secretaries forum four times a 
year at  its headquarters in Mumbai. 

Which of the statements given above are correct ? 

Answer Options : 

(1) Only a and b 

(3) Only a and c 

(2) Only b and c 

(4) All of the above 

Which of the following are not included in Revenue Tax Income ? 

a. Indirect Tax b. Direct Tax 

c. Interest on Investment d. Punitive Income 

Answer Options : 

(1) Onlyaandb (2) Only a and c 

(3) Only b and d (4) Only c and d 
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76. $ k I ~ a r n F ; I 1 r a n ' ~ * W J :  
a. 'qua ta  pol ran'? 'I can rest here' 3 m 4. 
3. 'pol ran sak no' $ 'I can sit there' 3 m 4. 
* * * - h T h f h s l .  &*: 
(1) Gtl&rl.lltll& Vm wf$& a $?R 4. 
(2) G t l & a + ~ ~ l &  ~m wf$& 3 $?R 4. 
(3) Gtl&a+~tl~&wf$& a ad3 3 $?R 4. 
(4) G H & ~ - I I H I &  wf$& a ad3 $?R ;lie. 

Decode 'ran' using the following data : 

a. 'I can rest here' is represented as 'qua ta  pol ran'. 

b. 'I can sit there' is represented as 'pol ran sak no'. 

Select the appropriate correct option with respect to above process. 
Answer Options : 
(1) Information a alone is sufficient for decoding. 

(2) Information b alone is sufficient for decoding. 

(3) Information a and b is necessary for decoding. 

(4) Information a and b is not sufficient for decoding. 

77. 8 l = r ~ ? & m ~ m ~ * s m m 3 . r m r * , ~ ~ $  
~ ~ k i 3 7 & a i h 7 1 & 3 r n ~ ~ ~ $ ~ & ~ h  
T w R i = a M ~ 3 7 & . ~ m l ~ ~ ~ " r m d h * 4 5 3 i m m r * . m  
~ r n s r m n 3 ~ ~ ~ ~ ~ ~ ~ r n ~ ~ .  
(1) r n 1 q w l m d i % m a & .  

Reflecting surfaces of three plane mirrors having square shape and identical sizes 
placed perpendicular to each other, in such a way that mirror 1 and 3 are having 
reflecting surfaces parallel to each other also exactly face each other. If a ray of light 
is falling on mirror 1 at an angle 45 degrees then select the option that appropriately 
describes direction of the ray coming out after reflection from mirror 3. 

(1) Perpendicular to the incidental ray that falls on the mirror 1. 

(2) Parallel to the incidental ray that falls on the mirror 1. 

(3) 45 degrees angle to the incidental ray that falls on the mirror 1. 

(4) 60 degree angle to the incidental ray that falls on the mirror 1. 
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78. m 3 - ~ ~ 3 ~ i m m 3 7 r ~ j l 6 ~ 3 i - 7 ~ ~ -  

w * h .  
3 7 * ~ d t m ~ m h a 7 * * q ~ . 3 7 d t ~ ~  
MxTft*q*.mq*mm:v&dt**qdt- - *. 
(1) ~ T f t 3 ; r r j r m * ~ + ~ m r f t * m . & ~ d t m -  

~ ~ x d t d t . m 3 ; r r j r w ~ d t m T I ~ ~ + .  
~ ~ * ~ s m o s n r r d t ~ ~ s f t * .  

(2) xdtm+Maxdtm37rFjlqm-MFjS;I.&xdtrftMm 
T f t m r n d ~ m M 3 7 r F j l x d t * w m ~ M x m ~  
3Tu&m*srrfarh-*Ffi?FI.mdt*;1d*dtFI. 

(3) ~ ~ f $ M r d t s f t ~ ~ m d t ~ d j ; ~ . m x d t y + a + a m l a 7  
m m m ; m ~ h r m ~ & . ~ ~ ~ d t m : T l l i f t ~ d ~  
~ v $ ! J 3 7 d t s r p r r i r 4 m ; r l a ~ ~ ~ ~ A m w ~ m * .  
~ ~ ~ ~ i i ~ ~ ~ ~ * .  

(4) 3 7 d t T i t ~ 3 7 r F j l ~ m x d t 3 m f t * . v $ ! J 3 7 d t ~ 3 7 r F j l ~  
~ M x ~ J h 9 m ; ~ m M . d t m ~ & m - m ~ m  
M . q d t d h & l 3 m % m + .  

Study carefully reasoning of the argument given and select one from the options 
arguments that uses closely parallel reasoning. 

If I cook some special dish for dinner, my family members will be pleased. If I go for 
the beach stroll I will be relaxed and pleasant. Today I prefer a pleasant me to 
pleasant family members so I will go for the beach stroll. 

(1) If I do overtime today I will earn more money. However if I spend time with my 
family I will get relaxed. I need to get relaxed today than I need more money. 
Therefore today I will go home to be with my family. 

(2) If I go out now I will enjoy cool and pleasant breeze. However, if I go out, I will 
not clean my house, and if I do not clean my house I will have to live with dusty 
and unhealthy environment to which I am allergic. Therefore I had better not 
go out. 

(3) If I give tuitions every day at  home I will be able to buy a smartphone. But if I 
read books in the evening it will add to my knowledge and development. Right 
now it is more important for me to earn my own money, but I will regret it if I 
did not invest time for personal development. Therefore I will give tuitions only 
on four days in a week. 

(4) I will eat that cake and ice cream to feel elated. But if I do not eat that cake 
and ice cream I don't need to bum calories. I don't care about gaining weight 
anymore. So I am going to eat that cake and ice cream. 
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(1) 8 (2) 5 (3) 4 (4) 3 

In a certain species of animal newborn female attains adulthood when it is two 
months old and after this on an average gives birth to one new female infant after 
every two months for five years in favourable conditions. If there is only one infant 
female in the group as its mother, only adult female in the group, died accidently 
after completing one month's weaning period, select total number of females in the 
group immediately after completion eight months in favourable condition. 

(1) 8 (2) 5 (3) 4 (4) 3 

Some recent films have been very expensive to make, but have not been the big 
box-office hits that would have justified the expense. Also there are films made very 
cheaply that have been received with both huge critical and popular acclaim. Indeed, 
some directors who have made successful low-budget films have gone on the make 
unsuccessful but expensive films. I t  is obvious then that if directors want to make 
popular films, they should stick to low budgets. 

Select the best statement of the flaw from following with respect to above argument. 

(I) Critics are often wrong in their predictions about the popularity of films. 

(2') The cost of making a film is normally greater than its original budget. 

(3) The cost of a film need not be the factor that determines its popularity. 

(4) The popularity of a film would justify a high level of expense in making it. 

3ilW& GlTW I SPACE FOR ROUGH WORK 



81. x w M * w i 5 a T ~ m z h ~ m . ' ~ f B w ; r ~ * m ~ m  
M f B w ; r & T ; r r n ~ d ?  
(1) M * w i 5 a T * m z h h .  
( 2 )  ~ * , = n ? & i ~ , ~ M f j o f s .  
(3) * * , = n m z h h , m M m .  
(4) ~ * 4 m z h f w ? l t M d .  
If the statement, 'none but some brave win the race' is false then which of the 
following statements can claim to be true ? 

(1) All but brave persons win the race. 

(2) Some persons who win the race are brave. 

(3) Some persons who win the race are not brave. 

(4) No person who wins the race is brave. 

Among, Pravin, Ajay, Rahul, Soham and Tanish, Pravin is second tallest and Soham 
is immediate taller than the shortest. Who among them is in the middle when they 
stand in the order of their height ? 
a. Ajay ranks third in height above Soham when all are standing in the order of 

height. 
b. Rahul is taller than Soham but shorter then Pravin. 
c. Tanish is not the shortest. 
Select option that is sufficient to answer question. 
Answer Options : 
(1) Only b 
(2) Only a and b 

(3) Either b only or a and c both together 
(4) Only b andc  

-WWU&jrmr I SPACE FOR ROUGH WORK P.T.O. 



A, B, C, D and E are five players playing different games. They play 4 games - 

hockey, cricket, kabaddi, and Kho-Kho. A plays three games but not hockey. B and E 

play three games but not Kabaddi. C and D play Kabaddi. C plays two games but not 

cricket and Kho-Kho. D plays two games but not Kho-Kho. C and D do not play same 

pair of games. 

Which are the common games played by A and B ? 

(1) Kabaddi, Hockey 

(2) Cricket, Kabaddi 

(3) Hockey, Kho-Kho 

(4) Cricket, Kho-Kho 

In a bag there are single colour balls with four different colours only. Excluding 

exactly 12 all balls are blue, excluding exactly 21 balls all are yellow, excluding 

exactly 20 balls all are red, and excluding exactly 19 balls all are green. How many 

balls are there in this bag ? 

(1) 26 (2) 24 

(3) 38 (4) 72 
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(2) 64 

(3) 78 

(4) 81 

An average of group of students in achievement test is 62. Average of the 20% 

students scoring highest score is 89 and that of the 25% students scoring lowest is 

36. Select the option that indicates average of remaining middle percentage of 

students. 

(1) Approximately 80 

(2) 64 

(3) 78 

(4) 81 

I am a man. Dattu's son is my son's father. Dattu is ... 

(1) Myself 

(2) My grandfather 

(3) My brother 

(4) My father 
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. aM*qm-M*. 
rnrnaX@l+WW$. 

M$3+3=32t~W$. 

* J a t :  

(1) * m (2) aM* (3) m (4) 

Six vehicles are parked in a single row as described below. Select the vehicle that is 
a t  extreme right. 

The vehicle on the extreme right is not the dumper. 

The motor bike and the dumper are not parked next to each other. 

The minivan and the car are parked next to each other. 

Lorry is the lSt vehicle from the left. 

Tempo is the 2nd vehicle from the right. 

Answer Options : 

(1) Motor bike (2) Minivan (3) Car (4) Lorry 

Select the correct option with respect to following statements. 

Statement 1 (S1) - If (x x x) = (y x y), then x i s  always equal toy. 

Statement 2 (S2) - If (x x x x x) = (y x y x y), then x may be always equal to Y. 

(1) S1 -true; S2 - false (2) S1 - false; S2 - true 

(3) Both S1 and S2 are false (4) Both S1 and S2 are true 
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89. ~ ~ ~ s f t 2 ~ 5 f % & ~ 3 T & & 1 2 ~ 3 h ~ . & ~ ~  
4 ~ ~ ~ ~ & 8 t 1 5 ~ m ~ . ~ m ~ f + f i f % & ~  
4$*%f?asr. 
(1) 3.5 
(2) 3 

(3) 2.5 
(4) 2 
Nita walks from school to her house a t  2.5 kmlhr and arrives 12 minutes late. One 
day she decided to walk a t  4 kmhr  and arrived 15 minutes earlier. Select the 
number indicating how far her school is from house in km. 

(1) 3.5 

(2) 3 
(3) 2.5 

(4) 2 

90. m 7 ~ ~ ~ w r w ~ ~ M 1 . ~ 3 o R d f m q d m ~  
? 4 F k d m a . % % 3 l R d f ~ d m ~ l * d m a & % % ~ * ?  
+ - m T l q d m d - 7 h * d m a . % % 3 7 ~ T l q d m m  

* d m a . r n R d f * * ? * i ; m ~ * * * * . r n *  
* h M % - * h * h m .  
(1) d-Fhl*?hf&clImM%. 

(2) **; rh fkd=nwFi%.  
(3) **?hf&clImwFi*. 
(4) m*m-mgtuR;rrft. 
Every student of class 7 enjoys only one sport. Excluding exactly 30 students all 
enjoy kabaddi, excluding exactly 31 students all enjoy football, excluding exactly 
same number of students who don't enjoy football all enjoy kho-kho and exactly 
excluding 37 students all enjoy hockey. No student enjoys any other game that is not 
mentioned here. Select the most appropriate option that indicates number of 
students who enjoy hockey. 

(1) Half the number who don't enjoy kho-kho. 

(2) One-fifth of number who don't enjoy football. 

(3) One-fifth of the number who don't enjoy kabaddi. 

(4) Data in insufficient for deciding the exact number. 
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Which of the following districts has its least boundary with the State of Telangana ? 

(1) Nanded (2) Yeotmal 

(3) Gadchiroli (4) Chandrapur 

92. ~~~h~~ 7l@lT@7? 

Which of the following statemenffs islare not correct ? 

a. Dry thorny forests are found in Pune and Ahmednagar districts. 

b. Subtropical evergreen forests are found at  Panchgani and Matheran. 

c. Anjan trees are found in Konkan on large scale. 

Answer Options : 

(1) Only statement a (2) Only statement c 

(3) Only statement c and b (4) Only statement b and a 

As per the Census 2011, which of the following district has a population more than 
20 lac ? 

(1) Parbhani (2) Akola 

(3) Yeotmal (4) Wardha 
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94. *f&w=4l$&a;tomr*al$? 

(1) m (2) - 
(3) mi (4) mlh 

Which district is located to the South of Akola district ? 

(1) Buldhana (2) Amravati 

(3) Wardha (4) Washim 

Arrange the following peaks in descending order as per their height. 

a. Pratapgad b. Trimbakeshwar 

c. Salher d. Sirsala 

Answer Options : 

(1) a, b, c, d (2) c, b, a, d (3) b, c, a, d (4) d, a, b, c 

96. * ~ ~ ~ r n ~ m .  
37. mcmi? Q. T 
ifi. * 3. +m3 
m&: 
(1) 37,*,*,x (2) a,*,*,3 (3) 3 ,  (4) Q,a,x,* 

Arrange the following places in descending order regarding rainfall. 

a. Amravati b. Nagpur 

c. Alibag d. Solapur 

Answer Options : 

(1) a, b, c, d (2) a, c, b, d (3) c, b, a, d (4) b, a, d, c 
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w 
I. w 
11. rim 

111. k wima 

Iv. lTr&nu 

Match the following : 

District Taluka 

a. Solapur I. Georai 

b. Latur 11. Mantha 

c. Jalna 111. Shimr Anantpal 

d. Beed IV. Malshiras 

Answer Options : 
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9s. -*pm*d QR 4. 
(1) wi+lia 

(2) rn 
(3) Fd 
(4) +4l 

Ghat is in between Kolhapur and Kudal. 

(1) Ambenali 
(2) Amboli 

(3) Hanumante 

(4) Amba . 

Manvat, Selu, Puma and are the talukas in Parbhani district. 
(1) Sonpeth 
(2) Basmat 

(3) Kandhar 
(4) Umri 

100. 2 0 1 1 ~ d a s r d r , 7 J + m ~ ~ ~ M 4 ?  

(1) 100% 

(2) 95% 

(3) 90% 

(4) 85% 

What is urbanisation level of Mumbai suburban district as per the 2011 Census ? 

(1) 100% 

(2) 95% 

(3) 90% 

(4) 85% 
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